4 3 2 l 1
[ REVISIONS
[zONE[REV | DESCRIPTION [ DATE [ AUTH

A ﬂ Tslsz
3/32 BRASS INSERT WITH INTERNAL THREADED
(6-32 NC-2B X 1/4" DEEP) STANDOFF 1/8" TALL. =
[1\ DESIGN CONFIGURATION IS OPTIONAL.
f
123/32 129/32

FOR #10 SCREWE 2

1/4" KNURL

Ly

SECTION A-A

(12) PLACES EQUALLY SPACED.

1/8" TALL CHARACTERS RAISED

(TYP)

FRONT VIEW

1 7116(TYP)

15/16(TYP)

J

+.005
1.031 “gp0

23/8

2 11/16 (APPROX)—=

SIDE VIEW

NOTES:
1. THIS DRAWING DEVELOPED FROM MIL-R-2726/13D, P/N M2726/13-001.
2. CAP COLOR IS BLACK.

Parts List
ITEM | QTY PART NUMBER DESCRIPTION
g??'“E"ET"\‘”S;'lggf E:((:)I-YVQIDE 1 1 |100982 CAP, POLYAMIDE(NYLON), M2726/13-001
) 2 1 [MS17339-1 CABLE, SAFETY, 6" LG
3 1 |X-FLW-BRS-6 WASHER, FLAT, BRASS, #6
4 1 |[X-RHM-BRS-632-250  |RHMS, BRASS, 6-32 X 1/4"
5 1 |X-ELW-PHB-6 WASHER, EXT TOOTH, PHOS BRZ, #6
DRAWN
CHRIS WINDLEY __[2/22/2005 COMSACO, INC.
[CHECKED NORFOLK, VA. 23502
\éVAWESTHOFF 2/23/2005 [TILE
WFS RECEPTACLE CAP, PLASTIC,
UNLESS OTHERWISE SPECIFIED
BOTTOM VIEW DIMENSIONS ARE IN INCHES APPROVED SYM 1142.1
TOLERANCES ARE: SIZE [CODE IDENT NO. [DWG NO REV
FRACTIONS DECIMALS ANGLES
svieisi ] - /64 XX C 57626 |404-1142.1 -
NEXT ASSY | USED ON XXX .005 [5eAT [ SHEET 1 OF 1
4 3 4& 2 I 1




